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WTQ 288 0 ~200
0~300 2.5 M27 x 2 6.4
0 ~ 400
0 ~500

-10~55



#
N 3.2.2
?
P
x
i 3.21 WXG
¥
#1
H 2
A
17 16 15 14 1312 11109 8 765 43
(= E’J;::_LUJJ_UJ_V{I’JIIHIIM ?ﬁw_ =
3.21
82 1— 2— 3— 4— 5— 6—
8— 9— 10— 11— 12—
14— 15— 16— 17—
WXG
WXG-11t WXG-12t
36V 20 mA 20 QO
3.2.3
3 - 60 ~ +300
>300 <-193

3.22

13—



R, AB
fo KA +25 V CD
+16 V ly AB
UAB Rl
z A B I, R I
e I KA
o= Rt |c Ic
KA KA
3.22
PID
3.2.4
1
2
R
R =R, 1+A +Bt* +Ct’ 3.1
R,—0
AB C—
Ry
1 1
R, =R,, &xp B[(Y)- (T—o)] 3.2

CFRNEHFETHLI I NSNS E -
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3 BE B S  B2

RTO_ To
B_
@®
@
€,
@
®
©
®
@ 1 0.4% ~0.6%
3% ~6%
®
R /R, Rew Ry 100 0
R /Ry 1.3925 Re/R, 1.391
R, 100 30Q 3
Pt50 Pt100 Pt300 Pt100 3 3.3
3.3 3.4
-200 <t<O R =R,[1+At +Bt* +Ct*(t- 100)] 3.3
0<t<500 R =R,[1+At +Bt’] 3.4
A=3.96847 x10°®° ' B=-5847x107 *C=-4.22x10°%® 3
3.3
Ry/Q Rigo /Ro Ro /
1%
1.391 0 +0.000 7 +0.05 I I
P50 | 50.00
1.391 0 +£0.001 0.1 I -200~0 + 0.15+4.5x10" 3t
1.391 0 +0.000 7 +0.05 I 0~500 + 0.15+3.0x10"3t
Pt100 | 100.00
1.391 0 +0. 001 +0.1 II I
I -200~0 + 0.3+6.0x10 %t
Pt300 | 300.00 | 1.391 0 +0.001 +0.1
I 0 ~500 + 0.3+4.5%x10" 3t

100 - 50 ~ 100



2 Cus0  Cul00 3.4
3.4
R, /Q Rioo /Ry Ro /
1%
Cus0 50 I
I 1.425+0.001 v0.1 m I + 0.3+3.5x10 %t
cu100 100 M 1.425+0.002 - I + 0.3+6x10" 3t
I
R =R,(1+At+Bt’ +Ct’) -50 <t<150
A=4.28899x10°° "' B=-2.133x107 ?C=1.233x10"° 3
PID
K, K,

-5~5 -10~10 -20~20 -50~50 - 100 ~100 mV

20 mA 4 ~20 mA
4 ~20 mA
0~1MPa 4~20mA 0 MPa
mA 1 MPa 20 mA
3.3

#)
P
=
;]
#
%
3]
)
1=
il
w
A
3.5 =
s
Ky
4 ~
85
4



3 B 2 B S 2

86

3.3.1

3.3.2

3.23

3~4m/s

2

© =50% ~ 60%

o =35% ~50%

Lic



0 #
;&
=
i
3
£
B
)
3=
%
%
#
=
,H-_

3.3.3
3.24
10% 2% 30% ~100%
®
87
BRER ZIEATF P
RPN
volf T
— b
T .
. PTE
30 70 90 9 /ﬁﬂﬂ: ab
ST
% O
~8 ab
\_ 2

3.24
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88

3.3.6

3.25
2— 3—
7—
9—
12—
14— 15—

16

4—

3.3.4

3.25

3.26

3.3.5

0.5m/s



4 ~20 mA

20

80

1.0%RH

2

ﬂumﬁmﬂuiﬁg@m SR

RAL s

A

A

SH

NN

THEBRIR B L

3.26

3.4

0 ~100% RH

3.27
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e R R B2

3.4.1 KD

KD

KD YWK

3.28

90

. 27
L 26 14 18
11 15
10
o [ 14
8
7
6 °
5
8 11
9 17
6 21
EIEZE
3.28 KD
1 28— 2 27— 3 26— 4 24— 5 22—
6 21— 7 20— 8 18— 9 17— 10 16—
11 14— 12 15— 13— 19— 23 29— 25—



KD 3.29 4 1
KD155 KD255 KDI55S KD255S
S
RE
{198
3.29 KD
1— 2—
3_
3.4.2 YWK
3.30 YWK KD
14
2
15
164 [
17}
18
19
NN
[
L1
1
— 13
1/2
3.30 YWK-22
1— 2— 3— 4— 5— 6— 7—
8— 9— 10— 11— 12— 13— 14—
15— 16— 17— 18— 19— 20—

CFREFETHIDS RSB SE
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YWK KD 3.5
3.5 KD YWK
/MPa /MPa

KD155
0.6~1.5 R12

KD155-S
KD255

-0.073~0.35]0.05~0.15 0.2~0.4

DR OB

R22 NH,
0.7~2
KD255-S H,0

YWK306 0.2~0.6

AC
YWKO06-S <0.3

110 V/10 A «
-0.073~0.6 | 0.08~0.2
YWK306F 0.2~0.6 | 220 V/5 A

380 V/2.5 A
DC
27 V/10 A

YWK306F-S <0.3
0.6~3

YWK30

YWK30-S

0.2~0.6
YWK30F

YWK30F-S

YWK6
YWK6F

-0.73~0.6 | 0.08~0.2

92

3.4.3

0.1~0.15 MPa
JC3.5 CWK JCS-0535 MP54 MP55 MP55A
CwWK JCS-0535 JG3.5 CWK
45 ~60 s JCS0535 RC
0~60s
JC3.5



T ELUMENRERUEEERRE -

JC3.5

o—No——

3.31 JC3.5

6— —

5—

3—  4—
11—

2—

1—

13—

12—

10—

93

14—

13

12

60 s

Dz

F

YJ

A—B—O—X—F—K,—H—C

KM

KM

A—B—K—YJ}—D,—X—F—K,—

60 s



) K Y3 DZ A—B—K—DZ—L,
% L, 60 s
%z
= A—B—O—X—F—K,—H—C
% ©)
£ 5 2 o
;f] K YJ A—B—K—YJ}—D,—
# = X—F—K,—H—C L, 60 s
% 12 K, F E
KM L,
L,
L2
KM 60 s
KM
0.15 MPa
5 min
94
A—B—K—YJ}—D,—X A—B—
K—YJ—D,—X KM 380 V
220V A—B—
K—YJ—D,—X 380V X D, X
D, A—B—K—YJ—D,—X—F—K,—H—C
20V X D, X D, A—B—
K—YJ—D,—X—F—K,—H—C 9

13 220V

CWK-11 YCK-1
RT 3.32



19

110 19

19

3.32
1— 2— 34— 5—
6— 7— 8— 9 10—
3.6
3.6
/MPa /MPa Is
CWK-22 0.05~0.40 0.02 40 ~60 AC 220 V/50 Hz/3 A
JC3.5 0.05-~0.35 0.05 60 +20 AC 220 VI380 V
DC 220 V/50 W
YLJ-0235 0.04-~0.35 0.02 ~0.03
RT262A 0.01-~0.15 0.01
0.05~0.40 0.03 AC400V/123410A
RT260A 0.05~0.60 0.05 DC 220V/12 W
0.15~1.10 0.05
MP55A 0.03 ~0.45 0.02 45 60 90 120
MPS5 0.03~0.45
0. 065 0.02 45 AC 250V/2 A
MP54 0.09 0.02 60 90 120 | DC 125 V/12 W
0.21 0.02 120
3
Copeland

3.33

CFREFETHIDS RSB SE
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SENRON

= copeland—@-

e R R B2

EE4EPL L b AR

e = I E
e

N sz \ 2
s\

3.33

TH PR Bk F 48 ~ 62 kPa

240V
®120V

MO——

LO

st o "

96 AD

240V 120V

83 ~97 Pa

M—L
« M—L"

3.5.1

3.34

3.5

3.35



NN T
e ke 3
3 I 8
- 11 6
X 56 6 11 11
Hi—— - 8
7 9 10 6
8 10 1 4 1
3
11 mﬁ 2 p
3.35
1— 2— 3— 4— 5— 6— 7—
8— 9— 10— 11—
Po
P=pt+tH p ¢
H p —
g_
p
H
3.6
H =£H 3.6
p
p lp =1.43 H =~1.43H 1.43
"
3.5.2
UQK- 40 3.36
10 ~40 mm - 45 ~
+55 1.9 MPa 2.9 MPa 55

220/380 V. +10% ~15% 50 Hz 60 Hz

9 9 10 14

CFREFETHIDS RSB SE
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e R R B2

220 V,50 Hz/220 V,60 Hz

3.36 UQK-40
1— 2— 3— 4— 5—
8— 9— 10 14— 11—
13
3.37 N D
N N+D
98 N-D

v,
1 i
vV
\Z}
~220V m.sv o .
F Gy e
::§ ==
3.37 UQK-40

UQK-41 42 43

6— 7T—
13—
5
N
142 3. 4.5 6
7
8
12
9
10
13
{;3___)__
111
r-=:===i-
_ﬂ_- %

3.38



3.39 v, C,
L, L, LC L, L, G
V,
L3 V12
Vs Ve Vs \A
V, V, K
Q L,
V5 R10 Rll VG VG V7
K Vv,
V7 V13
V7 RQ
TC K
FU
E
S
~220V
3.39
K K
2
UQK-41 42 43
$25
2.5 mm UQK-41 300 mm UQK- 42
200 mm 3 MPa
1 (O . a— | e N | I
0.78 s
UQK- 41
UQK- 42 3.40

UQK-3 1— 2— 3—

CFREFETHIDS RSB SE
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e R R B2

3.5.3
1
TEVA20/TEBA85 3.41
3.42
100
(a) B
Wishie] FF R il
fEmTE
HLME
JI%F
WENE | =3 === ‘==
{(b) St
3.4 3.42
1— 2— 3—
4— 5— 6— 7—
2

3.43 3.44



3.6.1

Z7ZH

Z7ZH

3 mm

ZZHA-3 ZZHB-3 2 ZZHA-3
10

3.45

CFHEREHID I NS E .
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ZZHA-3

TEL WA R ERL

ZZHA-3

ZZHB-3

-V-_\ cﬂ"u-/

s,

3.46

3.45 ZZHA-3

2—

1—

10— 11— 12—
ZZHA-3

o—

102

Z7HB-3

-3

ZZHA

Z7HB-3

3.46

(qV]
o
o
™ I
o
Q N
N
o
O
I
N
@
m
I
N
N
op
& Nen
%\m ._
W rd{-._ .24/.
&
i & =

3.47

3.47

ZZHD-3

ZZHC-3

”
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3.6.2

3.48

103

10 mm

3.49

ABC

F-E



e R R B2

13 14
15
16 , 17
18
N9

AN )

% ] N o PP NN
[ E——— - — - )
S&Z % G,

(a) FERE (b) FHRZE
3.48
1— 2— 3— 4— 5— 6— 7—
8— 9— 10— 11— 12— 13— 14—
15— 16— 17— 18— 19—

$

N S\, %

e

3.49b
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35 kPa
1
2
3

[ -|— a

b ._

3.50

abec

ac

105

3.51

CDE

3

34718

18

18

18

18

CD

11

10

14

13

11

12

13

11

13

13

11



#l
A
% 9 1
A C E D
® 15
i 1413 1211 10 1 ,
¥
i c E
E:d 2 4
A 2
3.51 18 4
7 3
[ ]
1 13
E D C
E 4
C
4 3 7 18
18
106
4
3.51

1— 2— 3— 4— 5— 16—

7— 8— 9— 1 10— 11— A 12— 13—

14— 2 15— 16— 2 17— 18— 19— 20—

3.6.3
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Z7ZH

2 3 4

\%
77

(b)

(a)

W u

3.52
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3.52
1 mm
25 [in?
100 /in? 32 50 65 mm
80 mm
. ZFS 00YB
3.53a
18 kPa
. ZFS 00QB
3.53b
14 kPa
(b) ZFS-00QB
. ZFS- 00QK
3.53¢

u

&
(c) ZFS-000K

P P

p' =p+0.1 MPa

0.1 MPa

3.53

Z7H

ZFS



1 ZZHA-3
ZZHA-3
2 Z7HB-3
Z7ZHB-3
3 ZZHC-3
ZZHC-3
Z7HC-3
4 7Z7HD-3
ZZHD-3
ZZHD-3
% ZZHA-3

ZFS-00QB
(a)

ZZHC-3 ??

ZFS-00YB

(c)

3.54

3.54a
ZZHA-3

3.54b
Z7HB-3

3.54c

3.54d

ZZIMﬁ

ZFS-00QK
(b)

% ZZHD-3

ZFS-000B
(d)

CFRNEHFETHLI I NSNS E -
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4.1

4.1.1

4.1a



TELwRRERBYE

B
2
< = j —
2
3 o
: 1
<t LTI
- SES
]
1
L
TR
= WED
¥ [

()5 FI Y

(a ) EEHY

4.1

4.2

111

4.3

PSC

4 SRBTE e, :)
(o]

PSC

{5
4.3 PC

4.2

HTRFHR s

4. 4a

4.4

VT

4.4a

4.4b

3 mn

4.5



e R R B2

112

B L
. - N
s HELAL lﬁg
: 1\_/ E4HLHAL
kad z < B
1 wo| ERLRY
o @R, i B]Eﬁ itz =
= CT T a4 ks
6 1 1 2
L v
mi
(b)
4.4
PSC
EURik ik
HL IR £
. i)
1 FESH
5858, 15 HAL
299
jpis m
220V,50 Hz M
RrAIT R
4.5
2
0



3
I < 2 +4 ” 4.1
4.1 4.1
4.6 2
4.6a A, B,
A B Q
KM KM M
KM BT
KM,
BP KM KM
lfa
\ o
FU,
vu, () dEEER (b)) b 4k e B
s L
= AN
KM ~
KM, @fFHmiT
FR . G A
B
AR R ST
M JE J 14k e 2% a
e [l
FR}L -
L
S
=i
T e 25 4R L 2%
4.6
4.6b A, B, A B
KM

Y-A

CEFY o RS E.
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4.2

1Y-A

Y-A
380 V
U

TEL WA R ERL

1//3

1/3

Y-A

4.7

3.14

Y-A

BT

4.8
KM,

KT

KM,

KT

KM,

KM,

KT

114

FR

[] FU

KT

KM,

I

I

Y-A

4.7



220/380 V. ATY

=
]
w

—

— o
‘I/—o

4.9
4.9
@® Q
SBT KM, KM,
HLR
4—6
21—23 1.5
KI
KA KA 11—13

KM, 4—8 KM,

HLR

KM,

Kl

KT

80%
KI 21—23

4.9

KT

Kl

CERLDERFE .
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116

KM, KM, 7—9 KM,

1.5

HLY HLG
SBP
@ Q HLR <
BT HLR HLY
1.5 SBR
BP
KT
KT KT KT 4—6
KA KA
4 3
A Y
2
Y A A
@ ” 1 /A_"
4.10
4.10
9

3 4.10 9 U, Vv, W,

U, V, W, U, V, W, U, V, W, BT
KM, KM, U, vV, W, U, W, V,

U W, V, KT



KT 11—13 KM, KM, 7—9 ﬁ
KT 5—7 KM, %
KM, 7—9 KM, 5—11 KM, KM, %
KM, KM, 5—11 KM, KT KT g
KT 5—7 KM, KM, 5—7 KM, KM, ;g
SBP KM, KM, #)
X 4
4.10
4.1.2
3 117
Q kW
Q, =60AV,nZq,r, /7 4.3
A_
V,— m
n r/min
7/——
q— kJ/m®
T Ty h
4.3
a, T
Z n



7
oy

B P 2
plPa

0 k) - kg™
4.11
4,11
2
6 7
5
8
118
. 9
3
12 113
e 14 20 21
i0
2 N 1596 19
| 17 a
18
—
1 N
24 o3 22
1
4.12
1— 2— 3— 4— 5— 6— 7—
8— 9— 10— 11— 12—
13— 14— 15— 16— 17— 18—



4.12

CEFY o RS E.
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e R R B2

4.14

120

7
e
i8]

N %' )
10 P

1L
£
Ll oo

11 T T =

(b)75% HBE T4 (€)100% Hl ¥R’ T AE
4.14 3
1— 2— 2 3— 4— 1 5—
6— 7— 8— 9— 1 10— 11— 12—



L #
bl
1 1 %
4.14b 5
3 B
4.14c 100% ;f;
#)
4.14b 2
2
75%
4.15

121

5091 fof

4.15
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122

4 8
4.16 8 4
I 1 4 2 3 1/2
3/4 4/4 LP P, . I
2DF
4.16 4.17
1— 2— 3— 4 1— 2— 3  4— 5
5— 6—  T— 6— 7— 8s—  9—
10— 11— 12— 13—
14— 15— 16— 17—
4.1
P4 P, LP
/MPa / 0.50 0 0.48 0.45 -3
/MPa / 0.57 4 0.55 3 0.53 2
8 4 8
P 0.50 MPa P, 2DF
\Y
|\ 3/4 Py 0. 48 MPa
P, , 1DF m i
1/2 p,  0.45 MPa
LP P 0.53
MPa LP I 1



TELwRRERBYE

1DP
2DF

P4— 4

0.55 MPa P,_,
0.57 MPa

3/4
4/4

1/2
4.18

4.18

123

CESN)

4.19a

4.19

4.19b



ﬂ;] 4,.19c
%
£ 4 10d
s )
% 2m
i
F
# 4. 19%e 4, 19f
#
i WASHER HAF AR
s=Riir=as
B
X I
(a) (b) (c)
HAE =2m WA
ﬁ :®;§ﬁ%@m ¢

(d) _'(e) (f)

124 4.19
4,20 A
B
t, -8 18.5 kW
-11 342
kPa 342 kPa
-15 Q. 15.7 kW
5.8 kW 9.9 kW
9.9 kW -23
AB S - 18
4,2.2

21

1.2 MPa



TELwRRERBYE

-
66="0-"0 \
ol S — _
o
>
=
Y
= N
B\
| | |
g} = X %0
] n o vy

-8 /T
381 py/kPa

-11
342

-18 -15
296

265

-23
218

Te)
N
—
|4
™
o
| ~ 3
S w ﬁlwfﬁ.‘:i_. 5
L SV 8
o o & =
> S b =
]
— <
a
N
(qV]
An
=
[}
=
¥
=

4.20

4.22

13— 14—

12—

11—

10—

20—

17— 18— 19—

16—

15—
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CPCE

CPCE

50%

CPCE

KvC

CPCE

100%

VVVF Variable Vdtage Variable Frequency

10% ~ 100%

30 ~120 Hz



4.23

6— A1 B1 A2 BZ_

4.23

10%

4.24 a 100%

4.24b

4.24

4.23

CERLDERFE .
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= =
I =
m_\l
NS / y
A
v
- I~ < _”ﬁn
S
RN
,.M.,. O
L L N L
S) S
[

TEL WA R ERL

4.24
34

128

30%

40%



60% ~ 100%

7
4.3 Tl T
TolT
2 “ ”
“ " 4. 25
7 3
2 0.6 mm
6 2
9
“ ” 4- 25
1— 2— 3—
1.0 mm 4= > 6=
7— 8—
9— 10— 11—
2
20s 10 s 10 s
10 sx100% +10 sx0 /20 s=50%
15s 5s 75%
10% ~ 100%
7.5 s 7.5s 50% 15 s

15s 50% “

CEFY o RS E.
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4.2

"E4MERw M ERL

4.1

80

20

130

4.2.1

4.26

4.4

=h,

W
h+2 +AqQ

J/kg

m/s



h,—
AG——

4.26

J15.J1/0.1 MPa

Pe

50
PI\ |
11 ”‘a\‘}\< Eh L 45
10 e 40
9 -
LIz [~
téo——c o o8 e
‘n\k L 30
! T PR
6 -
T
) R 2 &
R ]
4 '1%
0
e e iEiE LN
At -10
? g
1 \\*25_30
DT =35 _40
05 1.0 15 20 25 3.0 35 40 45 50 55 60
L 1 B /m
A B c
4.26
J/kg
J/kg
Agq=0
2
pl tl
t,
P,
P =1 Po P,
G Po
P, P.
CD

4.5

CEFY o RS E.
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a/s

G=544 Ap/l_ 0.571D2.7l

MPa

4.6
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4.2.2

4.27

2~3 mm



NN 777 St
éuvéww\ﬁk\\ d- Y- / ﬂ//f/
N S

w,
S ; é,: | /7
N //d; \\V.Aw  Joxd G\
%%Mﬁﬁ&&@

AN

.~

I R T A S T
, L ___\_._,A.._“_.___q._____n.“____.__.____.__r.___“__.".."____.___." il ____“."_.. .

12—
18—

11—
17—

10—
16—

15—

"ELUMERWNERK
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14—

13—



#)
S
F
%
3
i)
4.28 4.28a 4.28b 4.28c ¥
t, )
Py t, )
Pl pl
Po
Po Po
P3 pk Pk
pk Pk
Pl t1 =P0 to +P3
Pk
<‘> Py — 135
e
(a) (b)
4,28
3
3
P3
o
C P, t
4.28¢c o t
Po Py P, C
Pl PO p3 P3
Pl > I:)o + Ps

P, < Py +Ps
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Superheat
OPS Operating Superheat

4.28a
B
B
C
B
4.28¢c
At= t, -t
At

CRCRC]

Pl

Satic Supperheat

2~13

OS Opening

R22

Ps + P



)

%

E

Po %

3]

)

#

#)

Ap
p, t =PO t, +APO+P3 4.8
P, t, AP, Ap, Apy
AP,
4.29
137

AP,

o

(by L&Ak

4.29
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138

At >MSS

At

—
b
=]

—_
(=1
=]

P wE AR ) / %

4.30

At<SS

88 ]

opP

0OPS

4.30

4.31
MSS

SHEEAL/ C

MSS

oP

100%

OP

MSS Minimum Sable Sgnal

20%

At <MSS

S8 _[_ 08 AL/ C
88’ |08
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